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QUESTION 1

CORRECT TEXT A Huawei firewall by default creates security zones named untrust, dmz, and local. (Use
Lowercase letters.)

Correct Answer: security policy

QUESTION 2

When two routers exchange LSDB information using DD packets, a master/slave relationship is formed first, the router
with a larger router ID is the master, and determine the MS bit.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

In the OSPF protocol, inter-area route calculation involves only Router LSA, Network LSA, and Summary LSA.
A. TRUE

B. FLASE

Correct Answer: A

QUESTION 4
Which of the following statements regarding the LSA age field are true?
A. The unit of this field is seconds. In a LSDB, the LS age of a LSA increases with time.

B. If the LS age of a LSA has reached the LSRefreshTime (30 minutes), any router can regenerate an instance of this
LSA again.

C. The unit of this field is seconds. In a LSDB, the LS age of a LSA decreases with time.

D. If the LS age of a LSA has reached the LSRefreshTime (30 minutes), the originator of this LSA needs to regenerate
an instance of this LSA again.

Correct Answer: C

QUESTION 5
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RSTP provides different functions in different scenarios. Which of the following statements Is false?

A. After TC-BPDU attack defense function is enabled, you can set the number of times the switch processes TC BPDUs
within a certain period

B. The role of the designated port that is enabled with root protection cannot be changed C. If the edge port on the
switch enabled with BPDU protection receives RST BPDU, the switch sets the edge port as a non-edge-port and
triggers STP calculation

D. When the designated port enabled with root protection receives optimal RST BPDUSs, the port enters the Discarding
state and does not forward packets. If the port does not receive optimal RST BPDUs within a certain period of time, the
port will automatically restore to the Forwarding state

Correct Answer: C

QUESTION 6

Which of the following configurations are not mandatory when an administrator configures VRRP?
A. Preemption mode

B. Preemption delay

C. Virtual router priority

D. Virtual IP address

Correct Answer: D

QUESTION 7

Preferences of routing protocols determine the sequence In which a router selects a route among routes to the same
destination /earned through different routing protocols.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 8

Which of the following statements regarding IGMPv1 and IGMPv2 are true?
A. 1GMPv2 supports only general query.

B. 1GMPv2 defines the Leave message type.

C. IGMPv1 does not define the IGMP Leave message type.

D. IGMPv1 supports general query.
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Correct Answer: D

QUESTION 9

CORRECT TEXT Compress the 2001:0DBB:B8:0000:C030:0000:0000:09A0:CDEF address. (if the
answer contains letters, capitalize them.)

Correct Answer: pending

QUESTION 10

Which of the following attacks is not the network layer attack?
A. IP spoofing attack

B. ICMP attack

C. Smurf attack

D. ARP spoofing attack

Correct Answer: D

H12-821 PDF Dumps H12-821 VCE Dumps H12-821 Practice Test

H12-821 PDF Dumps | H12-821 VCE Dumps | H12-821 Practice Test 4/4


https://www.passapply.com/h12-821.html
https://www.passapply.com/h12-821.html
https://www.passapply.com/h12-821.html
http://www.tcpdf.org
https://www.passapply.com/h12-821.html
https://www.passapply.com/h12-821.html
https://www.passapply.com/h12-821.html

